

**Al-Mustaqbal University**

**college of sciences**

**Department of Biology**



# ***Bio Physics***

## ***second lecture***

**M. Sc. Baraa Abd Alrda**

***First Stage***

***2024- 2023***

EX 3:- Find  $\vec{A} + \vec{B}$  if  $\vec{A} = 2\hat{i} + 2\hat{j}$  (3)  
 and then find the magnitude of  $\vec{A} + \vec{B}$   
 $\vec{B} = 2\hat{i} - 4\hat{j}$

Sol//  $\vec{A} + \vec{B} = (2\hat{i} + 2\hat{j}) + (2\hat{i} - 4\hat{j})$   
 $= (2+2)\hat{i} + (2-4)\hat{j}$   
 $= 4\hat{i} - 2\hat{j}$   
 $A_x + B_x$      $A_y + B_y$   
 (لجميع قيم  $\vec{A} + \vec{B}$ )

$$|\vec{A} + \vec{B}| = \sqrt{(A_x + B_x)^2 + (A_y + B_y)^2}$$

$$= \sqrt{(4)^2 + (-2)^2} = \sqrt{16 + 4} = \sqrt{20}$$

$$= 4.5$$

EX 4:- If  $\vec{A} = 2\hat{i} + 3\hat{j}$  and  $\vec{B} = -\hat{i} + 2\hat{j}$   
 Find ①  $\vec{A} \cdot \vec{B}$     ② angle  $\theta$  between  $\vec{A}$  and  $\vec{B}$

Sol// ①  $\vec{A} \cdot \vec{B} = A_x B_x + A_y B_y + A_z B_z$  الحاصلات  
الضرب  
بعدم وجودها

$$\vec{A} \cdot \vec{B} = (2\hat{i} + 3\hat{j}) \cdot (-\hat{i} + 2\hat{j})$$

$$= (2\hat{i} \cdot -\hat{i}) + (3\hat{j} \cdot 2\hat{j})$$

$$= -2 + 6 = 4$$

$$\hat{i} \cdot \hat{i} = \hat{j} \cdot \hat{j} = \hat{k} \cdot \hat{k} = 1$$

$$\hat{i} \cdot \hat{j} = \hat{i} \cdot \hat{k} = \hat{j} \cdot \hat{k} = 0$$

$$\vec{A} \cdot \vec{B} = 4$$

④ نديجارد الزاوية بين المتجهين ستخدم قانون القرب العددي الثاني

EX4 ②

$$\vec{A} \cdot \vec{B} = AB \cos \theta$$

قانون القرب العددي  
يوضح زاوية

$$\vec{A} = \frac{2}{A_x} \hat{i} + \frac{3}{A_y} \hat{j}$$

نويد قيصه المتجه  $\vec{A}$

$$A = |\vec{A}| = \sqrt{A_x^2 + A_y^2} = \sqrt{2^2 + 3^2} = \sqrt{4+9} = \sqrt{13}$$

$$\vec{B} = \frac{-1}{B_x} \hat{i} + \frac{2}{B_y} \hat{j}$$

نويد قيصه المتجه  $\vec{B}$

$$B = |\vec{B}| = \sqrt{B_x^2 + B_y^2} = \sqrt{(-1)^2 + 2^2} = \sqrt{1+4} = \sqrt{5}$$

$$\vec{A} \cdot \vec{B} = 4$$

من المطلب الدول

$$\therefore \vec{A} \cdot \vec{B} = AB \cos \theta$$

$$\cos \theta = \frac{\vec{A} \cdot \vec{B}}{AB} \Rightarrow \cos \theta = \frac{4}{\sqrt{13}\sqrt{5}}$$

$$\cos \theta = \frac{4}{8.06} \Rightarrow \cos \theta = 0.49$$

$$\theta = \cos^{-1} 0.49$$

$$\therefore \theta = 60.6$$

EX5:- If  $\vec{A} = 2\hat{i} + 3\hat{j}$  and  $\vec{B} = -\hat{i} + 2\hat{j}$  (5)

Find  $\vec{A} \times \vec{B} = -\vec{B} \times \vec{A}$

$$\vec{A} \times \vec{B} = \begin{vmatrix} \hat{i} & \hat{j} \\ A_x & A_y \\ B_x & B_y \end{vmatrix} = \begin{vmatrix} \hat{i} & \hat{j} \\ 2 & 3 \\ -1 & 2 \end{vmatrix}$$

$$\begin{aligned} \hat{i} \times \hat{i} &= \hat{j} \times \hat{j} = \hat{k} \times \hat{k} \\ &= 0 \\ \hat{i} \times \hat{j} &= \hat{k} \\ \hat{j} \times \hat{k} &= \hat{i} \\ \hat{k} \times \hat{i} &= \hat{j} \end{aligned}$$

$$\vec{A} \times \vec{B} = \hat{k} (A_x B_y - A_y B_x)$$

$$= \hat{k} (2 \times 2 - (3 \times -1)) = \hat{k} (4 + 3) \\ = 7\hat{k}$$

$$-\vec{B} \times \vec{A} = \begin{vmatrix} \hat{i} & \hat{j} \\ B_x & B_y \\ A_x & A_y \end{vmatrix} = \hat{k} (B_x A_y - B_y A_x)$$

$$= \hat{k} ((-1 \times 3) - 2 \times 2)$$

$$= \hat{k} (-3 - 4)$$

$$= -7\hat{k}$$

$$\vec{A} \times \vec{B} = -\vec{B} \times \vec{A}$$

$$7\hat{k} = -7\hat{k}$$